

# Existence of hypercylinder expanders of the inverse mean curvature flow

## Kin Ming Hui

Abstract. We will give a new proof of the existence of hypercylinder expander of the inverse mean curvature flow which is a radially symmetric homothetic soliton of the inverse mean curvature flow in  $\mathbb{R}^n \times \mathbb{R}$ ,  $n \ge 2$ , of the form (r, y(r)) or (r(y), y), where  $r = |x|, x \in \mathbb{R}^n$ , is the radially symmetric coordinate and  $y \in \mathbb{R}$ . More precisely, for any  $\lambda > \frac{1}{n-1}$  and  $\mu > 0$ , we will give a new proof of the existence of a unique even solution r(y) of the equation  $\frac{r''(y)}{1+r'(y)^2} = \frac{n-1}{r(y)} - \frac{1+r'(y)^2}{\lambda(r(y)-yr'(y))}$  in  $\mathbb{R}$  which satisfies  $r(0) = \mu$ , r'(0) = 0 and r(y) > yr'(y) > 0 for any  $y \in \mathbb{R}$ . We will prove that  $\lim_{y \to \infty} r(y) = \infty$  and  $a_1 := \lim_{y \to \infty} r'(y)$  exists with  $0 \le a_1 < \infty$ . We will also give a new proof of the existence of a constant  $y_1 > 0$  such that  $r''(y_1) = 0$ , r''(y) > 0 for any  $0 < y < y_1$ , and r''(y) < 0 for any  $y > y_1$ .

## 1 Introduction

Consider a family of immersions  $F: M^n \times [0, T) \to \mathbb{R}^{n+1}$  of n-dimensional hypersurfaces in  $\mathbb{R}^{n+1}$ . We say that  $M_t = F_t(M^n)$ ,  $F_t(x) = F(x, t)$ , moves by the inverse mean curvature flow if

$$\frac{\partial}{\partial t}F(x,t) = -\frac{v}{H} \quad \forall x \in M^n, 0 < t < T,$$

where H(x,t) > 0 and v are the mean curvature and unit interior normal of the surface  $F_t$  at the point F(x,t). Recently, there are a lot of study on the inverse mean curvature flow by Daskalopoulos, Gerhardt, Hui [H], Huisken, Ilmanen, Smoczyk, Urbas, and others [DH, G, HII, HI2, HI3, S, U]. Although there are a lot of study on the inverse mean curvature flow on the compact case, there are not many results for the noncompact case.

Recall that by [DLW] a n-dimensional submanifold  $\Sigma$  of  $\mathbb{R}^{n+1}$  with immersion X:  $\Sigma \to \mathbb{R}^{n+1}$  and nonvanishing mean curvature H is called a homothetic soliton for the inverse mean curvature flow if there exists a constant  $\lambda \neq 0$  such that

$$(1.1) -\frac{v(p)}{H(p)} = \lambda X(p)^{\perp} \quad \forall p \in \Sigma,$$

where  $X(p)^{\perp}$  is the component of X(p) that is normal to the tangent space  $T_{X(p)}(X(\Sigma))$  at X(p). As proved by Drugan, Lee, and Wheeler in [DLW], (1.1) is



Received by the editors April 19, 2021; revised June 22, 2021; accepted June 26, 2021.

Published online on Cambridge Core July 5, 2021.

AMS subject classification: 35K67, 35J75, 53C42.

Keywords: inverse mean curvature flow, hypercylinder expander solution, existence, asymptotic behavior.

equivalent to

$$(1.2) - \langle H\nu, X \rangle = \frac{1}{\lambda} \Leftrightarrow - \langle \Delta_g X, X \rangle = \frac{1}{\lambda} \quad \forall X \in \Sigma,$$

where g is the induced metric of the immersion  $X: \Sigma \to \mathbb{R}^{n+1}$ . If the homothetic soliton of the inverse mean curvature flow is a radially symmetric solution in  $\mathbb{R}^n \times \mathbb{R}$ ,  $n \ge 2$ , of the form (r, y(r)) or (r(y), y), where  $r = |x|, x \in \mathbb{R}^n$ , is the radially symmetric coordinate,  $y \in \mathbb{R}$ , then by (1.2) a direct computation r(y) satisfies the equation

(1.3) 
$$\frac{r''(y)}{1+r'(y)^2} = \frac{n-1}{r(y)} - \frac{1+r'(y)^2}{\lambda(r(y)-yr'(y))} , \quad r(y) > 0,$$

or equivalently, y(r) satisfies the equation

$$y_{rr} + \frac{n-1}{r} \cdot (1+y_r^2)y_r - \frac{(1+y_r^2)^2}{\lambda(ry_r - y)} = 0,$$

where  $r'(y) = \frac{dr}{dy}$ ,  $r''(y) = \frac{d^2r}{dy^2}$  and  $y_r(r) = \frac{dy}{dr}$ ,  $y_{rr}(r) = \frac{d^2y}{dr^2}$ , and so on. In the paper [DLW], Drugan, Lee, and Wheeler stated the existence and asymptotic behavior of hypercylinder expanders which are homothetic soliton for the inverse mean curvature flow with  $\lambda > 1/n$ . However, there is no proof of the existence result in that paper except for the case  $\lambda = \frac{1}{n-1}$  and the proof of the asymptotic behavior of hypercylinder expanders there are very sketchy. In this paper, I will give a new proof of the existence of hypercylinder expanders for the inverse mean curvature flow with  $\lambda > \frac{1}{n-1}$ . We will also give a new proof of the asymptotic behavior of these hypercylinder expanders.

More precisely, I will prove the following main results.

**Theorem 1.1** For any  $n \ge 2$ ,  $\lambda > \frac{1}{n-1}$ , and  $\mu > 0$ , there exists a unique even solution  $r(y) \in C^2(\mathbb{R})$  of the equation

(1.4) 
$$\begin{cases} \frac{r''(y)}{1+r'(y)^2} = \frac{n-1}{r(y)} - \frac{1+r'(y)^2}{\lambda(r(y)-yr'(y))}, & r(y) > 0, \quad \forall y \in \mathbb{R}, \\ r(0) = \mu, & r'(0) = 0, \end{cases}$$

which satisfies

$$(1.5) r(y) > yr'(y) \quad \forall y \in \mathbb{R}$$

and

(1.6) 
$$r''(0) = \left(n - 1 - \frac{1}{\lambda}\right) \frac{1}{\mu}.$$

**Theorem 1.2** (cf. Theorem 20 of [DLW]) Let  $n \ge 2$ ,  $\lambda > \frac{1}{n-1}$ ,  $\mu > 0$ , and  $r(y) \in C^2(\mathbb{R})$  be the unique solution of (1.4). Then,

$$(1.7) r'(y) > 0 \forall y > 0,$$

(1.8) 
$$a_1 := \lim_{y \to \infty} r'(y) \quad \text{exists and } 0 \le a_1 < \infty,$$

and

$$\lim_{y\to\pm\infty}r(y)=\infty.$$

Moreover, there exists a constant  $y_1 > 0$  such that

(1.10) 
$$\begin{cases} r''(y) > 0 & \forall 0 < y < y_1, \\ r''(y) < 0 & \forall y > y_1, \\ r''(y_1) = 0. \end{cases}$$

Because (1.4) is invariant under reflection  $y \rightarrow -y$ , by uniqueness of solution of ODE, the solution of (1.4) is an even function, and Theorem 1.1 is equivalent to the following theorem.

**Theorem 1.3** For any  $n \ge 2$ ,  $\lambda > \frac{1}{n-1}$ , and  $\mu > 0$ , there exists a unique solution  $r(y) \in C^2([0,\infty))$  of the equation

(1.11) 
$$\begin{cases} \frac{r''}{1+r'^2} = \frac{n-1}{r} - \frac{1+r'^2}{\lambda(r-yr')}, & r(y) > 0, \quad \forall y > 0, \\ r(0) = \mu, & r'(0) = 0, \end{cases}$$

which satisfies

$$(1.12) r(y) > yr'(y) \forall y > 0$$

and (1.6).

## 2 Existence and asymptotic behavior of solution

In this section, we will prove Theorems 1.2 and 1.3. We first start with two lemmas which follow by standard ODE theory and Picard's theorem.

**Lemma 2.1** For any  $n \ge 2$ ,  $\lambda \ne 0$ , and  $\mu > 0$ , there exists a constant  $y_0 > 0$  such that the equation

(2.1) 
$$\begin{cases} \frac{r''}{1+r'^2} = \frac{n-1}{r} - \frac{1+r'^2}{\lambda(r-yr')}, & r(y) > 0, & in [0, y_0) \\ r(0) = \mu, & r'(0) = 0 \end{cases}$$

has a unique solution  $r(y) \in C^2([0, y_0))$  which satisfies

(2.2) 
$$r(y) > yr'(y)$$
 in  $[0, y_0)$ .

Moreover, (1.6) holds.

**Lemma 2.2** For any  $n \ge 2$ ,  $\lambda \ne 0$ ,  $\mu > 0$ ,  $M_1 > 0$ ,  $\delta_0 > 0$ ,  $r_0, r_1 \in \mathbb{R}$ , satisfying

$$\delta_0 \le r_0 \le M_1$$
,  $|r_1| \le M_1$ ,  $r_0 - y_1 r_1 \ge \delta_0$ ,

there exists a constant  $\delta_1 \in (0, y_0/2)$  depending on  $\lambda$ ,  $\delta_0$ ,  $y_0$ , and  $M_1$  such that, for any  $y_0/2 < y_1 < y_0$ , the equation

(2.3) 
$$\begin{cases} \frac{r''}{1+r'^2} = \frac{n-1}{r} - \frac{1+r'^2}{\lambda(r-yr')}, & r(y) > 0, \quad in[y_1, y_1 + \delta_1) \\ r(y_1) = r_0, & r'(y_1) = r_1 \end{cases}$$

has a unique solution  $r(y) \in C^2([y_1, y_1 + \delta_1))$  which satisfies

(2.4) 
$$r(y) > yr'(y)$$
 in  $[y_1, y_1 + \delta_1)$ .

**Lemma 2.3** Let  $n \ge 2$ ,  $0 < \lambda \ne \frac{1}{n-1}$ ,  $\mu > 0$ , and  $y_0 > 0$ . Suppose  $r(y) \in C^2([0, y_0))$  is the solution of (2.1) which satisfies (2.2). Then, the following holds.

(i) If  $\lambda > \frac{1}{n-1}$ , then

$$r'(y) > 0 \quad \forall 0 < y < y_0.$$

(ii) If  $0 < \lambda < \frac{1}{n-1}$ , then

$$r'(y) < 0 \qquad \forall 0 < y < y_0.$$

**Proof** By Lemma 2.1, (1.6) holds. We divide the proof into two cases:

Case 1:  $\lambda > \frac{1}{n-1}$ .

By (1.6), r''(0) > 0. Hence, there exists a constant  $\delta > 0$  such that r'(s) > 0 for any  $0 < s < \delta$ . Let  $(0, a_1)$ ,  $\delta \le a_1 \le y_0$ , be the maximal interval such that

$$r'(s) > 0 \quad \forall 0 < s < a_1.$$

Suppose  $a_1 < y_0$ . Then,  $r'(a_1) = 0$  and hence  $r''(a_1) \le 0$ . On the other hand, by (2.1),

$$r''(a_1) = \left(n - 1 - \frac{1}{\lambda}\right) \frac{1}{r(a_1)} > 0,$$

and contradiction arises. Hence,  $a_1 = y_0$  and (i) follows.

Case 2:  $0 < \lambda < \frac{1}{n-1}$ .

By (1.6), r''(0) < 0. Hence, there exists a constant  $\delta > 0$  such that r'(s) < 0 for any  $0 < s < \delta$ . Let  $(0, a_1)$ ,  $\delta \le a_1 \le y_0$ , be the maximal interval such that

$$r'(s) < 0 \quad \forall 0 < s < a_1.$$

Suppose  $a_1 < y_0$ . Then,  $r'(a_1) = 0$  and hence  $r''(a_1) \ge 0$ . On the other hand, by (2.1),

$$r''(a_1) = \left(n-1-\frac{1}{\lambda}\right)\frac{1}{r(a_1)} < 0,$$

and contradiction arises. Hence,  $a_1 = y_0$  and (ii) follows.

**Remark 2.4** Note that if r(y) is the local solution of (2.1) in  $(0, y_0)$ , it is possible that

$$\lim_{y \to y_0} (r(y) - yr'(y)) = 0$$

or

$$\lim_{y\to y_0}r'(y)=\infty$$

or

$$\lim_{y\to y_0}r(y)=\infty,$$

so that the local solution r(y) of (2.1) cannot be continued beyond  $y_0$  by standard ODE technique. Hence, in order to proof the global existence of solution of (1.11), we need the following two lemmas which show that this cannot happen.

**Lemma 2.5** Let  $n \ge 2$ ,  $\lambda > \frac{1}{n-1}$ ,  $\mu > 0$ , and  $y_0 > 0$ . Suppose  $r(y) \in C^2([0, y_0))$  is the solution of (2.1) which satisfies (2.2). Then, there exist a constant  $\delta_1 > 0$  such that

$$(2.5) r(y) - yr'(y) \ge \delta_1 \quad \forall 0 < y < y_0.$$

**Proof** Let w(y) = r(y) - yr'(y),  $a_1 = \min_{0 \le y \le y_0/2} w(y)$ ,  $a_2 = \frac{\mu}{\lambda(n-1)}$ , and  $a_3 = \frac{1}{2} \min(a_1, a_2)$ . Then,  $a_1 > 0$  and  $a_3 > 0$ . By Lemma 2.3,

$$(2.6) r(y) \ge \mu \quad \forall 0 < y < y_0.$$

Suppose there exists  $y_1 \in (y_0/2, y_0)$  such that  $w(y_1) < a_3$ . Let (a, b) be the maximal interval containing  $y_1$  such that  $w(y) < a_3$  for any  $y \in (a, b)$ . Then,  $a > y_0/2$ ,  $w(a) = a_3$ , and

(2.7) 
$$w(y) < \frac{\mu}{2\lambda(n-1)} \quad \forall a < y < b.$$

By (2.1), (2.6), (2.7), and a direct computation,

$$w'(y) = y(1+r'(y)^2) \left(\frac{1+r'(y)^2}{\lambda w(y)} - \frac{n-1}{r(y)}\right) \quad \forall 0 < y < y_0$$

$$\geq y(1+r'(y)^2) \left(\frac{1}{2\lambda w(y)} + \left(\frac{1}{2\lambda w(y)} - \frac{n-1}{\mu}\right)\right) \quad \forall a < y < b$$

$$\geq \frac{y_0}{4\lambda w(y)} > 0 \quad \forall a < y < b.$$

Hence,

$$w(y) > w(a) = a_3 \quad \forall a < y < b,$$

and contradiction arises. Hence, no such  $y_1$  exists, and  $w(y) \ge a_3$  for any  $y \in (0, y_0)$ . Thus, (2.5) holds with  $\delta_1 = a_3$ .

**Lemma 2.6** Let  $n \ge 2$ ,  $\lambda > \frac{1}{n-1}$ ,  $\mu > 0$ , and  $y_0 > 0$ . Suppose  $r(y) \in C^2([0, y_0))$  is the solution of (2.1) which satisfies (2.2). Then, there exists a constant  $M_1 > 0$  such that

(2.8) 
$$0 < r'(y) \le M_1 \qquad \forall 0 < y < y_0$$

and

(2.9) 
$$\mu \le r(y) \le \mu + M_1 y_0 \quad \forall 0 < y < y_0.$$

**Proof** By (2.1), (2.2), and Lemma 2.3,

(2.10) 
$$\frac{r''}{1+r'^2} \le \frac{n-1}{r} \le \frac{n-1}{\mu} \quad \forall 0 < y < y_0.$$

Integrating (2.10) over  $(0, y_0)$ ,

(2.11) 
$$\tan^{-1}(r'(y)) \le \frac{(n-1)y_0}{\mu} \quad \forall 0 < y < y_0.$$

By Lemma 2.3 and (2.11), (2.8) holds with

$$M_1 = \tan\left(\frac{(n-1)y_0}{\mu}\right).$$

By (2.8), we get (2.9), and the lemma follows.

**Lemma 2.7** Let  $n \ge 2$ ,  $\lambda > \frac{1}{n-1}$ ,  $\mu > 0$ , and  $y_0 > 0$ . Suppose  $r(y) \in C^2([0, y_0))$  is the solution of (2.1) which satisfies (2.2). Then, either

(2.12) 
$$r''(y) > 0 \quad \forall 0 < y < y_0,$$

or there exists a constant  $y_1 \in (0, y_0)$  such that  $r''(y_1) = 0$  and

(2.13) 
$$\begin{cases} r''(y) > 0 & \forall 0 < y < y_1, \\ r''(y) < 0 & \forall y_1 < y < y_0. \end{cases}$$

**Proof** We will use a modification of the proof of Lemma 15 of [DLW] to prove this lemma. By (1.6), r''(0) > 0. Hence, there exists a constant  $\delta > 0$  such that r''(s) > 0 for any  $0 < s < \delta$ . Let  $(0, y_1)$ ,  $\delta \le y_1 \le y_0$ , be the maximal interval such that

$$r''(s) > 0 \quad \forall 0 < s < y_1.$$

If  $y_1 = y_0$ , then (2.12) holds. If  $y_1 < y_0$ , then  $r''(y_1) = 0$ . By Lemma 2.3 and (2.1),

$$\frac{r'''(y)}{1+r'(y)^2} = \frac{2r'(y)r''(y)^2}{(1+r'(y)^2)^2} - \frac{n-1}{r(y)^2}r'(y) - \frac{2r'(y)r''(y)}{\lambda(r(y)-yr'(y))} 
- \frac{y(1+r'(y)^2)r''(y)}{\lambda(r(y)-yr'(y))^2} \,\forall 0 < y < y_0 
\Rightarrow \frac{r'''(y_1)}{1+r'(y_1)^2} = -(n-1)\frac{r'(y_1)}{r(y_1)^2} < 0.$$

Hence, there exists a constant  $0 < \delta' < y_0 - y_1$  such that r''(y) < 0 for any  $y_1 < y < y_1 + \delta'$ . Let  $(y_1, z_0)$  be the maximal interval such that

$$r''(s) < 0 \quad \forall y_1 < s < z_0.$$

If  $z_0 < y_0$ , then  $r''(z_0) = 0$  and  $r''(z_0) \ge 0$ . On the other hand, by Lemma 2.3 and (2.14),

$$\frac{r'''(z_0)}{1+r'(z_0)^2}=-(n-1)\frac{r'(z_0)}{r(z_0)^2}<0,$$

and contradiction arises. Hence,  $z_0 = y_0$  and (2.13) follows.

We are now ready to prove Theorem 1.3.

#### 2.1 Proof of Theorem 1.3

By Lemma 2.1, there exists a constant  $y_0' > 0$  such that (2.1) has a unique solution  $r(y) \in C^2([0, y_0'))$  which satisfies (1.6) and (2.2) in  $(0, y_0')$ . Let  $(0, y_0)$  be the maximal interval of existence of solution  $r(y) \in C^2([0, y_0))$  of (2.1) which satisfies (2.2) and (1.6). Suppose  $y_0 < \infty$ . By Lemmas 2.2, 2.5, and 2.6, there exists a constant  $\delta_1 \in (0, y_0)$  such that, for any  $y_0/2 < y_1 < y_0$ , there exists a unique solution  $r_1(y) \in C^2([y_1, y_1 + \delta_1))$  of (2.3) which satisfies (2.4) with  $r_0 = r(y_1)$  and  $r_1 = r'(y_1)$ . Let  $y_1 \in (y_0 - \frac{\delta_1}{2}, y_0)$ , and let  $r_1(y) \in C^2([y_1, y_1 + \delta_1))$  be the unique solution of (2.3) given by Lemma 2.2 which satisfies (2.4) with  $r_0 = r(y_1)$  and  $r_1 = r'(y_1)$ . We then extend r(y) to a solution of (1.11) in  $(0, y_1 + \delta_1)$  by setting  $r(y) = r_1(y)$  for any  $y_0 \le y < y_1 + \delta_1$ . Because  $y_1 + \delta_1 > y_0$ , this contradicts the maximality of the interval  $(0, y_0)$ . Hence,  $y_0 = \infty$ , and there exists a unique solution  $r(y) \in C^2([0, \infty))$  of the equation (1.11) which satisfies (1.12) and (1.6) and the theorem follows.  $\square$ 

### 2.2 Proof of Theorem 1.2

We will give a simple proof different from the sketchy proof of this result in [DLW] here. By (i) of Lemma 2.3, (1.7) holds. By Lemma 2.7, either

(2.15) 
$$r''(y) > 0 \quad \forall y > 0,$$

or there exists  $y_1 > 0$  such that (1.10) holds. Suppose (2.15) holds. Then,

(2.16) 
$$a_1 \coloneqq \lim_{y \to \infty} r'(y) \quad \text{exists},$$

and  $a_1 > 0$ . We now divide the proof into two cases.

Case 1:  $a_1 = \infty$ .

Then, there exists  $y_2 > 0$  such that

$$(2.17) r'(y) > \sqrt{2(n-1)\lambda} \quad \forall y > y_2.$$

By (1.11) and (2.17),

$$\frac{r''(y)}{1+r'(y)^2} \le \frac{1}{r(y)} \left( n - 1 - \frac{1+r'(y)^2}{\lambda} \right) \qquad \forall y > 0$$
$$\le \frac{1}{r(y)} \left( n - 1 - \frac{1+2(n-1)\lambda}{\lambda} \right) < 0 \quad \forall y > y_2,$$

which contradicts (2.15). Hence,  $a_1 \neq \infty$ .

Case 2:  $a_1 < \infty$ .

By (1.12),

(2.18) 
$$0 < \frac{yr'(y)}{r(y)} < 1 \quad \forall y > 0.$$

Now, by (2.16) and the l'Hosiptal rule,

$$(2.19) \qquad \lim_{y \to \infty} \frac{r(y)}{y} = \lim_{y \to \infty} r'(y) = a_1 \quad \Rightarrow \quad \lim_{y \to \infty} \frac{yr'(y)}{r(y)} = \frac{\lim_{y \to \infty} r'(y)}{\lim_{y \to \infty} r(y)/y} = 1.$$

By (1.11), (2.16), (2.18), (2.19), and the l'Hosiptal rule,

$$\lim_{y \to \infty} \frac{r(y)r''(y)}{1 + a_1^2} = \lim_{y \to \infty} \frac{r(y)r''(y)}{1 + r'(y)^2}$$

$$= n - 1 - \frac{1 + a_1^2}{\lambda} \cdot \frac{1}{\lim_{y \to \infty} \left(1 - \frac{yr'(y)}{r(y)}\right)}$$

which contradicts (2.15). Hence,  $a_1 < \infty$  does not hold. Thus, by Cases 1 and 2, (2.15) cannot hold. Hence, there exists  $y_1 > 0$  such that (1.10) holds.

By (1.10) and Lemma 2.3, (1.8) holds. By (1.7),

$$a_2 := \lim_{y \to \infty} r(y) \in (\mu, \infty]$$
 exists.

Because by (1.10) (r(y) - yr'(y))' = -yr''(y) > 0 for any  $y > y_1$ ,

(2.20) 
$$a_3 := \lim_{y \to \infty} (r(y) - yr'(y)) \in (r(y_1) - y_1r'(y_1), \infty]$$
 exists.

Suppose

$$(2.21) a_2 \in (\mu, \infty).$$

Then,

$$(2.22) a_1 = 0.$$

By (1.8), (2.20), and (2.21),

$$a_4 := \lim_{y \to \infty} yr'(y) = a_2 - a_3 \in [0, a_2 - r(y_1) + y_1r'(y_1))$$
 exists.

Suppose  $a_4 > 0$ . Then, there exists  $y_2 > y_1$  such that

$$yr'(y) \ge a_4/2 \quad \forall y \ge y_2$$

$$\Rightarrow \qquad r(y) \ge r(y_2) + \frac{a_4}{2} \log(y/y_2) \quad \forall y \ge y_2$$

$$\Rightarrow \qquad a_2 = \infty,$$

which contradicts (2.21). Hence,

$$(2.23) a_4 = 0.$$

Letting  $y \to \infty$  in (1.11), by (2.22) and (2.23),

$$\lim_{y\to\infty}r''(y)=\left(n-1-\frac{1}{\lambda}\right)\frac{1}{a_2}>0,$$

which contradicts (1.10). Hence, (2.21) does not hold and  $a_2 = \infty$ . Thus, (1.9) holds and the theorem follows.

**Acknowledgment** The author would like to thank the anonymous referee for the numerous helpful and detailed comments on the paper.

## References

- [DH] P. Daskalopoulos and G. Huisken, *Inverse mean curvature flow of entire graphs*. Preprint, 2017. arxiv:1709.06665
- [DLW] G. Drugan, H. Lee, and G. Wheeler, Solitons for the inverse mean curvature flow. Pacific J. Math. 284(2016), no. 2, 309–326.
- [G] C. Gerhardt, Flow of nonconvex hypersurfaces into spheres. J. Differential Geom. 32(1990), no. 1, 299–314.
- [H] K. M. Hui, Existence of self-similar solution of the inverse mean curvature flow. Discrete Contin. Dyn. Syst. Ser. A 39(2019), no. 2, 863–880.
- [HII] G. Huisken and T. Ilmanen, The Riemannian Penrose inequality. Int. Math. Res. Not. IMRN 1997(1997), no. 20, 1045–1058.
- [HI2] G. Huisken and T. Ilmanen, The inverse mean curvature flow and the Riemannian Penrose inequality. J. Differential Geom. 59(2001), no. 3, 353–437.
- [H13] G. Huisken and T. Illmanen, Higher regularity of the inverse mean curvature flow. J. Differential Geom. 80(2008), no. 3, 433–451.
- [S] K. Smoczyk, Remarks on the inverse mean curvature flow. Asian J. Math. 4(2000), no. 2, 331–335.
- [U] J. Urbas, On the expansion of starshaped hypersurfaces by symmetric functions of their principle curvatures. Math. Z. 205(1990), no. 3, 355–372.

Institute of Mathematics, Academia Sinica, Astronomy-Mathematics Building, No. 1, Section 4, Roosevelt Road, Taipei 106319, Taiwan

e-mail: kmhui@gate.sinica.edu.tw